Ratio to ATLAS

[EEY

0.5

7000 GeV pp Underlying Event
= L L L B B LI B B |ig
sum ET (0.8 < | < 1.6, o™ > 0.5(0.2) GeV, E‘fz > 20 GeV, 2| < 25%
= ==
— =
— I~
— — AN
—m " B g EE
= u E:ﬁ
- m 10
B . s
= S
~ u -
= . =
— _] %o}
— —™
<
— — ™M
= ¥ Ho
— —H O
L — ™M
| = Pythia 6.425 35% s
- Pythia 6.425 a EE
—  --+-- Pythia 6.425 dw 415
= —o— Pythia 6.425 p0 =
= % Pythia 6.425 pro-gq20 38
— -1 W
u BEE
- —1a
= 3 Q
P | | | | | | | T | L | L - =
:l T T T T | T T T T | T T T T | T T T T |:
- =2
1
| —0.5
| 1 1 1 1 " | " 1 1 1 1 " | " 1 1 1 1 | " 1 " 1 " 1 " 1 " |
0 10 20 30 40

sum E_ [GeV]



	Contents
	Page 1


